
Four Operations with Lengths

1. Sam has a piece of ribbon that is 30cm long. Troy’s piece of ribbon is 5 times shorter 

than Sam’s.

Circle the length of Troy’s piece of ribbon.

2. Which two toys added together total 70cm?

3. Niko is building towers using thirty 1cm cubes.

His first tower is 18cm tall. His second tower is half the size of the first tower

How tall is the second tower? 

How many cubes does he have left?
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Visit kids.classroomsecrets.co.uk for online games to support learning.
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